10E

1) 6

2) X5 +5X4(-4) +10X3(-4)2 +10X2(-4)3 +5X(-4)4 +(-4)

X5 - 20X4 + 160X3 - 640X2 + 1280X - 1,024
3) 5

4) X4 4 4X32 + 6X222 4+ 4X23 4 24
X4 4+ 8X3 + 24X2 + 32X + 16

2
5) koo (2X)233 = (10)4X2(27) = 1080X2
128

Bl % (2X)431 = (5)16X4(3) = 240X4
7) (2X)* = 16X4
8) % (2X)212 = (6)4X2(1) = 24X2

9) X2+ 2XA + A2
10) (BX - 1/2)2

11) X3 + 3X2(4/5) + 3X(4/5)2 + (4/5)3
X3 + 12/5 X2 + 48/25 X + 64/125

12) (3X)3 + 3(3X)2 + 3(3X) + 13
27X3 + 27X2 + 9X + 1

13) VB (547 + 9) -
(547 - 4)(547 + 4)

556+ 448 _

25-7-16

5E A7+ 4B _ 1047+ 84F

159 159

12) -3i (2 + 110) -6 - 33i2
2-11)R+11) = 4.12112
-6i+33

125

15) -30i

16) (-35)(-4f16 ) =-35--4 = 140

17)\1% + 3400 =

AIT0_, 3400(10) _ i, 3080 _
Ji04fic ~ (o) 10 10

10, 30450 _ 0 +80+fT0 _
10 0

10 1
91,i0
10

]
18) (9)3/2=27

(X + 2)(%+73) . (X + 2)(X~+4)
(X-4)(X+2) (X+3)(X+3)
X2 44X + 4

X2-X-12

19)

4
20) 12Xx4Y5+ 1—3;(— + 8X4Y5 =

4
&X_ + 20X4Y5
Y5

2) 16
3) 4x
4) 30A

5) X24+2X+1=-3+1
(X+1)2 =-2
X+1 =42
X=-1xi2

6) X2-5X+ 4=0
(X-4)(X-1)=0
X-4=0 X-1=0
X=4 X=1

7) 2(X2+4X+1)=0
X2+4X+4=-1+4
(X+2)2 =3

X+2 =48

X =-2 43

8) X2 +4X+4=7+4
X+2)2=11
X +2=x+411
X =-2 +4f11

3(X2-3X+1)=0
9
X2 -3X +—— =-1+—7—

~

9

<
N

10) X2-2X+1=11+1
(X-1)2 =12
X-1 ='\/ﬁ
X=1£248

For most problems, the check for only one solution is shown.

The check for the other solution should be similar.

(-1+i42)2+2(-1 +i42)+3=0
120 2-2+2F+3=0

1-2-2+3=0

(4)2-5(4)+4=0
16-20+4=0
(1)2-5(1)+4=0
1-5+4=0

[2(-2 +AB)2 + 8(-2 +4B) +2=0]+ 2
(-2+48)2+4(-2+B)+1=0
4-4513-8+4B+1=0

44+3-8+1=0

(-2 +411)2 + 4(-2 +4f11) -7 =0
4-4«M1+11-8+4«T1-7=0

4+11-8-7=0

[3(3+24§2-9(_3_+2£ )+3=0]=3
2

[9:696+5 - 94346 11=0]x4

9+60+5-18-64B+4=0

9+5-18+4=0

(1+24B)2-21+24B)-11=0
1448 +12-2-455-11=0

1+12-2-11=0
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1)

4)

5)

6

~

~
~

&

10)

9/4

1/36

2X
4/5Y

X2 4+4X+4=-16+4
(X+2)2 =-12
X+2 =+4f12
X=-2+2i43

2(X2-8X -2)=0
X2-8X+16=2+16
(X-4)2 =18

X-4 =+£4fi8
X=4+3+2

A2 + 5A + 25/4 = -1/4 + 25/4
(A+5/2)2 =6

A+5/2 =46
A=-5/2 -6

X2 4+8X+16=10+16
(X + 4)2 = 26
X +4 =146
X =-4 406

X2 +6X+1=0
X24+6X+9=-1+9
(X+3)2 =8

X+3 =%48
X=-3+24

X2 - 10X + 25 = -30 + 25
(X-52 =-5
X-5 =x4f5
X=5%i45

The check for only one solution is shown for these problems.
The check for the other solution should be similar.

(-2+2B)2 +4(-2+2i4B)+16=0

4-8f5-12 -8+88+16=0

4-12-8+16=0

[2(4+342)2-16(4 +342)-4=0]+ 2
(4+342)2-8(4+340)-2=0
16 + 245+ 18 -32 - 245 -2=0

16+18-32-2=0

(-5/2 +4f6 )2 + 5(-5/2 +4f6 ) + 1/4 =0
25/4 - 56 + 6 -25/2 + 546 + 1/4 =0

25/4 + 24/4 - 50/4 + 1/4 =0

(-4 +426)2 + 8(-4 +4P6) - 10=0

16 - 856+ 26 - 32 + 8476 -10=0
16 +26-32-10=0

[3(-3 +242)2 + 18(-3 +242) +3=0]+ 3
9-124%+8-18 + 1240 +1=0

9+8-18+1=0

(5+i45)2-10(5+i45)+30=0

25 + 1005 - 5 - 50 - 10r<f5 + 30 = 0
25-5-50+30=0

1)

£
=

10)

11

—

12)

4X2 + 4/3 X +1/9

9X2 - 24X + 16

9

2X2 + 20X +
X2+ 10X +__
X2 + 10X + 25

2X2 + 20X + 50

28X

32X

X2 + 10X + 25 =-3 + 25
Jx+57 =2

X+5 =402
X =-52+02

(-5 +4P2)2 + 10(-5 +4£2) +3=0
25 - 467+ 22 - 50 + 1622 +3=0
(-5-422)2 + 10(-5 -422) +3=0

25 + 1027+ 22 - 50 - 1022 +3=0

X2-6X=6 ."(x . 3)2 =+fi5
X2-6X+9=6+9 X'3=i‘\lﬁ.
(X-3)2 =15 X =3 2+fi5

(3+4f15)2 + 6(3 +4f15)-6=0
9+ 645 +15-18-6+5-6=0
24-24=0
(3-415)2+6(3-4f15)-6=0
9-B4f5315-18 +64f5-6=0

24-24=0

(1/2 X)4 + 4(1/2 X)3(-3B) + 6(1/2 X)2(-3B)2 +
4(1/2 X)(-3B)3 + (-3B)4 =
1116 X4 - 3/2 X3B + 27/2 X2B2 - 54XB3 + 8184

X5 + 5X4 + 10X3 + 10X2 +5X + 1

20) 4=i2xi2=(-1)(-1) =1

5.4
1-2

2000X3

13)

(2X)3(-5)2 = 10-88X - 25 =

5:4.3:2
14) ———— (2X)1(-5)4 = 5- 2X- 625 =
) To5a (X5 =52X-625

6250X

15) (4X)3 + 3(4X)2(-6) + 3(4X)(-6)2 + (-6)3 =
64X3 - 288X2 + 432X - 216

16) (X +4)

17) 6-643)
4i+7)

(5- 6iB )(4i-7)
4i+7) 4i-7)

20i-35- 24248 +42iB _
16i2 - 49

20i - 35 + 24+ + 42i48
-65

18) _(B-4B) (3-F)
(@ +8) 3-B)

9-642 +2
9-2

11-642
7

19) (12i)(i4f5 - 4) = 12i24f5 - 48i =
-124f5 - 48i
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11D

-

)

N

)

4)

9)

10)

11)

1/4 X2 - 5X + 25

4X2 - 24X + 36
49
64
6X

16X

X2-4X+4=-5+4
(X-2)2=-1
fx-27 =
X-2 =%i
X =2%i

@+i)2-42+0)+5=0
4 + 4+ i2-84T+5=0
4-1-8+45=0
@-i)2-42-)+5=0
4 -4+ i2-8 w4+ 5=0
4-1-8+5=0

(X+11)(X+1)=0
X=-11, -1

(112 +12(-11) +11=0
121- 132+11=0

(12 +12(-1)+ 11 =0
1-12+11=0

(113 X)4 + 4(1/3 X)3(2) + 6(1/3 X)2(2)2 +
4(1/3X)(2)3 + 24 =

1/81 X4 +8/27 X3 +8/3 X2 + 32/3 X + 16

12) X5 + 5X4(-2A) + 10X3(-2A)2 + 10X2(-2A)3 +
5X(-2A)4 + (-2A)5 =

X5 -18X4A + 40X3A2 - 80X2A3 + 80XA4 - 32A5

13) % (X)4(2A)1 = 10X4A

14) (2A)5 = 32A5

15) (2X)3 + 3(2X)2(-3)1 + 3(2X)(-3)2 + (-3)3=
8X3 - 36X2 + 54X - 27

16) (X-3)

17) iB)(Ei+9) _

(8i-9)(8i +9)
32i24f6 + 36i46
64i2 - 81

-3246 + 36i4/6
-145

18) _(5+AF3)(5 +4f8) _
(5-4F3)(5 +4F3)

25 +104f3-3  _ 22+ 10i4B
25 - (-3) 28

11 + 5i48
14

19) (4i)(2i - 3i) = (4i)(-i) = -42 = 4

20) (1)(1)=1

11E

1) 9X2-3/2X +1/16
2) X2 422X + 121
3) 16

4) 225

5) 12X

6) 4X2+_____+9
X2+ +9/4
X2 +6/2 X +9/4
4X2 + 12X +9

7) X2-3X+9/4=9+9/4
(X - 3/2)2 = 45/4

(X - 3/2)° =+A574
X-3/2 =+ 3;/5—

X = 3%3+6
2
8) [3/2+ (3/2)45 I2 - 3[3/2+ (3/2)45 1-9=0
9/4 +(942Yf5 + (9/4)5 - 9/2 - 492y B - 18/2=0
27/2-9/2-18/2=0
[3/2 - (3/2)af5 |2 - 3[3/2- (3/2)45]-9=0

9/4 AS/2Y5 + (9/4)5 - 9/2 + 494B - 18/2 =0

27/2-9/2-18/2=0

9

=t

(@X-1)(X+2)=0
X=1/2, -2

10) 2(1/2)2 +3(1/2)-2=0
12+3/2-4/2=0
2(-2)2 +3(-2) -2=0
8-6-2=0

11) X5 4+ 5X42 + 10X322 + 10X223 +5X24 + 25 =
X5 + 10X4 + 40X3 + 80X2 + 80X + 32

12)  (2X)4 + 4(2X)3(-1) + 6(2X)2(-1)2 +
4(2X)(1)3 + (-1)4 =

16X4 - 32X3 + 24X2 - 8X + 1

65

13) (X)4(-1)2 = 15X4
12

14) 854 o 3
T3 X3(1)3 = -20X

15) (3X)3 + 3(3X)2(1) + 3(3X)(1)2 + 13=
27X3 4+ 27X2 + 9X + 1

16) (X +5)

17) (8-2iAB)(7i-2) _
(7i+2)(7i-2)
21i- 14245 - 6 + 4iAF _

492 - 4

21i + 1445 - 6 + 4i45

-63

18) (1 +4X)(2 +4X) -
(@-4X)(2 +4X)

2 + 34K+ X
4-X

19) 18i(6i + 7i) = 18i(13i) = 243i2 = -234

20) (R)()(?) = (-1)3 =-1
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